3A
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2) 3.41 x 10"

3) 3.8x104

4) 9.7x109

5) (7.3x105) x (5.4x103)=

39.42 x 108 =3.942 x 1077

6) (5.8x107) x (6.5x102) =

37.7x 109 = 3.77 x 1010

7) (9.8x102) x (6.0x 103) =

58.8 x 105 = 5.88 x 104

8) (1.8x109) x (2.4 x108) =

4.32 x 1015

9) (2.7x10%) + (9.0x103) =

3x107 = 3x106

10) (2.1x108) + (3.4 x 105) =

.62 x 108 6.2x 109

11) (4.2x104) + (6.0x10°5) =

7x10! = 7.0x100=7

12) (6.8 x 109) + (4.3x 105) =

1.58 x 104
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11.2x 101 = 1.12x 102
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(2.9x107) + (1.5x 104 =

1.93 x 103

(9.6x1012) = (2.0x102) =

4.8 x 1014

(1.6 x104) + (8.0x10°6) =

2x102 = 2.0x10' =20
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3.08 x 108

(6.2x 104)(7.5 x 10-1) =

(6.2 x 7.5)(104 x 10-1) =
(46.5)(108) =

(4.65 x 101)(103) = 4.65 x 104

(3.08 x 106)(4.8 x 10-3) =

(3.08 x 4.8)(106 x 10-3) =
(14.784)(103) =

(1.4784 x 101)(103) = 1.4784 x 10

(3.08 x 106) + (7.5 x 10°1) =
(3.08 + 7.5)(106 = 10-1) =
(.4107)(106-1) =
(4.107 x 10-1)(107) = 4.107 x 106
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